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O i 2024F5831HE CORE 2024F6A1HN S DRE
BoEES | ITEF FRANES AR BAE | gogss | TEF FRANES AR FRE
Rarm FteFaR 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
G o 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
BRarm EE25 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
s EaT] HFRA 920 1,080 1,240 1,610 2,500 670 780 910 1,200 1,880
BRarm =310 1,350 1,640 1,940 2,580 4,120 670 780 910 1,200 1,880
s EaT] s 920 1,080 1,240 1,610 2,500 810 930 1,070 1,360 2,090
BRarm e 920 1,080 1,240 1,610 2,500 890 1,040 1,200 1,550 2,390
BRGP 4[| 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
KA FteFaR 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
AAR —=-E 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
RAR EE25 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
AAR HFRA 870 1,020 1,170 1,510 2,320 670 780 910 1,200 1,880
RAR =310 1,240 1,510 1,790 2,370 3,770 670 780 910 1,200 1,880
ARAR MR 920 1,080 1,240 1,610 2,500 810 930 1,070 1,360 2,090
KA R_iE 920 1,080 1,240 1,610 2,500 890 1,040 1,200 1,550 2,390
AALR 4[| 920 1,080 1,240 1,610 2,500 920 1,080 1,240 1,610 2,500
= R EER 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
E= —=-E 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
B EE25 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
E= HFRA 720 830 940 1,190 1,790 610 710 830 1,080 1,690
E= Z=| 1,090 1,320 1,560 2,050 3,240 610 710 830 1,080 1,690
E= MR 810 950 1,080 1,380 2,120 750 860 990 1,240 1,900
= R_iE 860 1,010 1,160 1,490 2,310 830 970 1,120 1,430 2,200
B 4[| 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
XHE R EER 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
ESins) —=-E 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
ESiEs EE25 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
xHE #HERHA 670 770 860 1,080 1,620 610 710 830 1,080 1,620
KxHE Z=| 1,090 1,290 1,490 1,950 3,070 610 710 830 1,080 1,690
xHE MR 760 890 1,010 1,280 1,950 750 860 990 1,240 1,900
ESiEs & 850 1,000 1,140 1,460 2,260 830 970 1,120 1,430 2,200
i) 4[) 860 1,010 1,160 1,490 2,310 860 1,010 1,160 1,490 2,310
IR R EER 800 930 1,070 1,360 2,090 800 930 1,070 1,360 2,090
HIFE —=-E 810 940 1,070 1,370 2,110 810 940 1,070 1,370 2,110
Al EE25 810 940 1,070 1,370 2,110 810 940 1,070 1,370 2,110
A A REA 590 670 750 930 1,360 590 670 750 930 1,360
Al Z=| 1,010 1,200 1,380 1,800 2,810 610 710 830 1,080 1,690
HIFE s 690 790 890 1,130 1,690 690 790 890 1,130 1,690
Ak & 780 900 1,030 1,310 2,000 780 900 1,030 1,310 2,000
ik 4[) 810 940 1,070 1,370 2,110 810 940 1,070 1,370 2,110
wiEICT R EER 740 850 970 1,230 1,860 740 850 970 1,230 1,860
wEMICT —=-E 740 860 980 1,240 1,880 740 860 980 1,240 1,880
wEMICT EE25 740 860 980 1,240 1,880 740 860 980 1,240 1,880
mEMICT A REA 530 590 650 790 1,140 530 590 650 790 1,140
WEMICT = 950 1,120 1,280 1,660 2,590 610 710 830 1,080 1,690
wiEICT s 620 710 800 990 1,470 620 710 800 990 1,470
wiEICT & 710 820 930 1,180 1,780 710 820 930 1,180 1,780
wiEICT £[)I 740 860 980 1,240 1,880 740 860 980 1,240 1,880
RGeS e EaR 700 800 910 1,150 1,730 700 800 910 1,150 1,730
RGeS —=-E 700 810 920 1,160 1,750 700 810 920 1,160 1,750
GG ES EE25 700 810 920 1,160 1,750 700 810 920 1,160 1,750
e A REA 490 540 590 710 1,010 490 540 590 710 1,010
RGeS =310 910 1,070 1,230 1,580 2,450 610 710 830 1,080 1,690
iR E s 580 660 740 910 1,340 580 660 740 910 1,340
RGeS & 670 770 870 1,090 1,640 670 770 870 1,090 1,640
RGeS £[)I| 700 810 920 1,160 1,750 700 810 920 1,160 1,750
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BEDRS | Bas | ous | Avs | Bi |eooes | Ges | ous | Aus | BAS
&t — — — 1,370 2,100 — — — 1,450 | 2,240

BaEE | HePR | Neam | — - - 3700 | (620 - —~ — 3700 | (620
Rt S — — - (1,000) | (1,480) - — — (1,080) | (1,620)
5t — — — 1,370 2,100 — — — 1,450 | 2,240

BEE | —Eegs | NEXCOMEE - - - (370) (620) - - - (370) (620)
B = - - (10000 | (1,480) — - — (1,080) | (1,620)
&t — — — 1,370 2,100 — — — 1,450 | 2,240

el | @EE2g | Voo - - - 3700 | (620 - —~ — 3700 | (620
(E@rﬁﬁ’i) - - - (1,000) (1,480) - — — (1,080) (1,620)

5t — — — 1,370 | 2,100 — — — 1,040 | 1,620

EET ] wERm | NHGOEAE - - - (370) (620) - - - (370) (620)
(E@rﬁﬁi) = = - (1,000 | (1,480) - = = (670) (1,000)

5t — — — 2,420 | 3,860 — — — 1,040 1,620

EFaT B | NESQEEE - - 3700 | (620 - —~ — 3700 | (620
(@%ﬁ’%) - - - (2,050) (3,240) - — — (670) (1,000)

&t — — — 1,370 2,100 — — — 1,200 1,830

BRam MR NI - - - (370) (620) - - - (370) (620)
(E@rﬁﬁi) = = - (1,000) | (1,480) - = = (830) (1,210

5t — — — 1,370 2,100 — — — 1,390 2,130

BAE =8| e | - —~ - 3700 | (620 - —~ —~ 3700 | (620
Rl - — - (1,000 | (1,480) - — — (1,020 | (1510
&t — — — 1,370 2,100 — — — 1,450 | 2,240

EFaT c3:: [ el B - — 3700 | (620 — —~ — 3700 | (620
e = - - (1,000) | (1,480) - - — (1,080) | (1,620)
5t — — — 1,370 2,100 — — — 1,510 2,340

AR | FEER | NS | — —~ - 2200 | (70 - —~ —~ 2200 | (70
Rt S — — - (11500 | (1,730) - — — (1.290) | (1,970)
&t — — — 1,370 2,100 — — — 1,510 2,340

AR | —Eem | NRSOERE | - — - (2200 | (370) - — — (2200 | (370)
By — — - (11500 | (1,730) - — — (12900 | (1,970)
5t — — — 1,370 2,100 — — — 1,510 2,340

AR | BE2s | NSt - — - 2200 | (70 - —~ —~ 2200 | (70
Rt — — - (11500 | (1,730) - — — (1.290) | (1,970)

5t — — — 1,370 2,100 — — — 1,100 1,720

AR | wERE | VORI — — — 2200 | (370 — — —~ 2200 | (370)
By — — - (11500 | (1,730) - — — (880) | (1,350)
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A B0 X4 2024F5A31HECONE 2024F6 1AM S DEE
gagEs | IEE | pRE | XRE | FAE |(sapss| TEE | hRE | ARHE | FAHE
5t - — — 2,270 | 3,610 — — — 1,100 1,720
RALR B | NSRRI - - 2200 | (370 - — —~ 2200 | (370)
Rt S - — - (2050) | (3,240) - — — (880) | (1,350)
5t — — — 1,370 | 2,100 — — — 1,260 | 1,930
RALR MR NI - - - (220) (370) - - - (220) (370)
e - - - (1150) | ,730) - - — (1,040) | (1,560)
5t - — — 1,370 2,100 — — — 1,450 | 2,230
KRR g | NEXCORER | - - (2200 | (370) - — - (2200 | (370
R
Rl — — - (11500 | (1,730) - — — (1230) | (1,860)
5t — — — 1,370 | 2,100 — — — 1,510 | 2,340
RALR )l | NSO - - - (220) (370) - - - (220) (370)
e - - - (1150) | ,730) - - — (1,290) | (1,970)
st - — — 1,290 1,970 — — — 1,490 2,310
ES= T e Gl —~ = © © = - - ) ©
R
Rl — — - (1,290) | (1,970) - — — (1490) | (2,310)
5t — — — 1,290 | 1,970 — — — 1,490 | 2,310
& Cme | NEXCORE® - - - (0) (0) - - - (0) (0)
e - - - (1,290) | (1,970) - - — (1,490) | (2,310)
st - — — 1,290 1,970 — — — 1,490 2,310
ES= mE2e | Ve | - — - © © - —~ —~ © ©
R
Rl — — - (1,290) | (1,970) - — — (1490) | (2,310)
5t — — — 1,790 | 1,790 — — — 1,080 | 1,690
ES | wERm | NECOREEE —~ — © © — - - ) ©
e - - - (1190) | ,790) - - — (1,080) | (1,690)
st — — — 2,050 | 3,240 — — — 1,080 | 1,690
E 3 B | VSRR — - - © © - —~ —~ ©) ©
Rt S - — - (2050) | (3,240) - — — (1,080) | (1,690)
5t — — — 1,290 | 1,970 — — — 1,240 | 1,900
ES | S el —~ — © © — - - ) ©
By — — - (12900 | (1,970) - — — (1,240) | (1,900)
st - — — 1,290 1,970 — — - 1,430 | 2,200
E3= =8| e | - —~ - ©) ©) - —~ —~ © ©
Rt - — - (1.290) | (1,970) - — — (1430) | (2,200)
£t — — — 1,290 | 1,970 — — — 1,490 | 2,310
ES= =3z [ I Rl B - — © © — —~ —~ © ©
By — — - (12900 | (1,970) - — — (1490) | (2,310)




